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SECTION - A

Answer both questions (either aor b).

1. &) Explain with circuit diagram the cl.os_'é'd} lbop op-amp configuration with

b)

2. a)

b)

4.

voliage snunt feedback. Derive'the’expression for its voliage gain. Also
discuss how an inveriing ampl ner can be modified as current to voitage
oconverier. e :

OR o :‘»:;'V:":z?:f

Explain a basic differentiator with circuit diagram. Obtain input and output
waveforms and frequency response of a practical differentiaior. Also
obtain the expression for its output vo!tage

With the halp of neat diagrams explam ihe workmg of R2R ladder type
DAC.

OR

Describe with circuit diagram and waveform the working of astable
multivibrators using

a) Schmiit Trigger
b) 555 Timer

c) Inverier. {2x12=24)
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&} What is input offset voltage 7

~

a)

b)

Deiermine the outlput voliage of a differantial amplifier for the input
voltages of 300 uV and 250 pV. The difierential gain of the ampiifier is
5000 and the value of CMRAR is 100.

Expilain with circuil diagram, the working of an open locp op-amp in
differeniial ampilifier configuration.

What is slew rate ?

Calculate the output volzage of the followmg cmuu withV. =5VandV,=8V,
10kQ ~

10 kQ

10 kQ

e

Describe wu?‘ cxruu;t dmaram the workmg of a voltage to current converier.

Distinguish between tnangula. wave generator and sawtooth wave
generator.

Find the resistance to be used to cenvert a first order low pass Butterworth
filter with resistance 30 kQ and f; 2 KHz inio a filier with f, 3 KHz.

Explain briefly with circuit diagram, the voltage limiting action of a basic
op-amp comparator.
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a) What is PROM 7
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Use c.A 51 i\.‘d,\ o ;rrplcmem ﬁe !ogho function F(A B, C) xm (1, 2, 8, 7).

Explain the design of synchronous countar. {4x8=38)




